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2016 I\
CONTRACT-I
| Paper : 1-3
Full Marks : 80 -

Time : Three hours . -

. The figures in the margin ihdié_dte o
full marks for the questions.

1. Fill in the blanks by choosing the correct
option : e - 1x10=10

i)

The person accepting' fhe 'proposél is

called . (promisor/promisee).

i) -

(i)

-

Under the Indian Contract Act, 1872
consideration may be . (past/
past, present or future) L

Contract made under undue influence -
is _. . (void/voidable)

.. _means actual violence or threat
of violence to a person. (Duress/

-Coercion).

Contd.



) ‘Section

" in restraint of marriage. (26/27)

(vi) Sect10n 29 of the Indian Contract ‘Act,
1872 deals with ____agreement
(amblguous |/ wagering)

(vii) ______ means ‘as much as earned’.
(Quantum meruit/ Contingent contract)
(viii) ‘Damage’ means — (injury/

. compensatlon) ‘
(lx) The Specific Relief Act, 1963 was
' came into force on _ (13th

December, 1963/ 18t March 1964)

.7 (x) The Law of Contract deals to create
. (legal rights and obligations/
‘constitutional nghts and obligations)

Wnte short notes on the followmg
' ‘ 2x5=10

(a) Characteristics of proposal or offer.
(b) Mistake of law.

(c) Void agreément. . !/I '
(d) Anticipatory breach of contract. | /

fej Standard form of contract.
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deals with agreement ~

‘A Contract without conszderatlon is vozd’ Are

. there any exceptions to it? EXplP n wv;h

suitable illustrations. - \\ 12‘
Or

“Acceptance’ is to an offer what a lighted - L
match stick'is to a train of gun powder.”

Explain. , ' 12
Bxplain the law relating to minor’s.
agreements with relevant case laws. 12
| or -

State when a consent is not said to be free.

What is the effect of such consent on the '
formation of a ¢ontract ? 8+4=12" =

What are the different kinds of agreements
declared ‘void by the Indian Contract Act?
Explain briefly with examples. ' 12

' Or | '
What are wagering agreements ? Distinguish

between wagering agreements and contingent
contracts. ‘ . 4+8=12. -

Discuss various modes of termination of
contract. What are the remedies provided
against breach of contract ? 8+4=12
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o or
' Write brief no"ces on: - - . 6+3+3=12

a) - Supe,rveriing impossibility of
.performance.

'b) " Position of finder of goods.

c) Novation.

7. Write' an essay on. the main,objécts of the

Specific Relief Act, 1963. 12
o Discuss the following: 6+6= 12

i Multinational agreements.

4i, Constitutional provisions for
contractual liability of Government.
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